<K RAR B sk e & & BREHE R NaRE >
A PRE AT F OH N R OE
4 R B B | WAL B M| & fi 3
AREMSR BT HES
=
At - FEEE X 72 A 6N X127 H
A2 300( =] (W ERIS 120081, £ H1980[E], = PN100[E])
TGS 208| HEf (P T46) 2R X 5206 X LRAT (25 B, BRPY) 1R X 5208 X 27
REASERS 64| [A] (FE7—1) 2AX320 (KT —/1) 2AX32H
FhE PRI 1 =
KEGH vaE 2R
e
THFEmE 1l =X BREF - 93 AR, MR A B EE
St 12| H
ISR 12| H
EkER CMEEEL) 1 =
W+ 10/ nof - HiRe CGHEE)
AR 1| #
wBHE
1 12| A Gy
FHOE 78,000 0 BHELY FHokEE (26, 0000 X 3[H])
7T v REHLEERS
N7 7 &2 —HEHh 6,800, nf
FEA BY 5 A
I
it fE 16, 440| i 8, 220 X 2[A]
e = IV 16,440 nf 8, 220t X 2]
SIS/ €] 16, 440| i 8,220t X 2[H]
BRIEA - 55 5 mBhBREC 24,660 i 8, 220nt X 3[A] FHIRI (52 R e AR )
PR
HNBFEAEBREL (/b AN D) 49,320 i 8, 2201 X 6]
JEDEm bR E (8 #30 11,010| nof 1, 835nd X 6[H]
NEFERE. (A)) 6,800 nf 3, 400 g X 2[H]
FERD - FOA - fafE] - A 60,330 i
[ERCN % ¢
g
KEEF £ B ROEBN A%
e
THEES B 1 K BRECA) - i BABRAI, k& BV AE S
e 12 H
AKIEE 12| H
TAGER 12| H
ERER UM EED) 1 &K
SR PR
S
i 26,460 ni 8, 820 X 3[H]
=7 —L— 3T 26, 460 i 8, 820t X 3[H]
B 1A 26,460 ni 8, 820 X 3[1]
BREA - 95 BB ERECR 26,460 nf 8, 820m X 3[m] AR (555 HL[F]RFHCA)
PR
SAEFEARRE (v AN ) 51,540/ nf 8, 590t X 6]m]
CAEANERRE (F#0 2,790 nf 930n1 X 3[H]
EwEbrE (8 #30 10,545 nf 3, 515mt X 3]
LERD - FHIA - faf ] - EHR 64,875 i
fiF ok g B
FEARBI & (A) 288 i
NIBRE 1,296 nf
H£E (N) 1,290 nf
BT

(g2




EE BE | HAL & F T L
BNES
M
THEE 2 1| =X
St 12| A
KIE R 12 H
TKEE 12| H
ERERE CVINIEEE) 1| =X
B
TR 1l =KX KRR
FHok} 1l =X TH BT A e A A
Zert
1Bttt 1l =X H T AN
B e 1 K UMY (E@IEE, —MREARHFEA, HRERT, —RERET)
R A ) 1l =KX RS
JEAL L H
NHEREF—1
wHE
THFEE 1l =KX R, HEt, ABRE
St 12| H
B R 1| =X
TKEE 1| X
ERERE VNIEEE) 1l =X
wBHE
B AL LY 1l =X
TR 1 X KRR
FH} 1 =K KE A
ZReet
1Bttt 1 =X TV B
VTR 1 X AR TR ISR
KFZES—
mHE
THFEmE 1 =K R, it B
R 12 H
B 1| X
ERERE VNEEE) 1l =X
wBHE
= AL L EY 1l =X
TR 1 K KSARBR
FHo} 1 =K KE A
FHoB} 1 K ELD A
ZRErt
Ittt 1| K 7 Vi e
VTR 1 =K B TR AR
ERE T HEGTT
AR 1l =X
Bl & PR 1| K
— s B =
B HEB A =X
— g B =X
T AT
THERL

2




